Quiz 6 5.3 and 5.3 MATH 161 THOMPSON

1) Solve the following inequality. Easiest to graph X(X-3)(X+2)
1 =% - Bx> 0 crosses at -2,0,3 ABOVE x-axis
Choose the correct solution. 1, —
(- o0, - 2)U0.3) | | /
[-2,00U[3,0) ,\ .

¥ (-2.0)0U(3,00)
(- 0o, - 2)U( — 2,00U(0.3)U(3, 00)
(- o0.00)
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Analyze the graph of the function.

2) C x+14

Rix)= ———
&) ®(x+17)

{a) What is the domain of Rix)?

Mo Ixx#0andx # - 17}
{x[x#0 and x # - 14}
{x[x#0and x# - 17 and x # - 14}
All real numbers

{b) What is the equation of the vertical asymptote(s) of R(x)? Select the correct choice below and fill in any answer boxes within your choice.

YA x=0-17

{Use a comma to separate answers as needed. Type an integer or a fraction.)
There is no vertical asymptote.

{c) What is the equation of the horizontal or oblique asymptote of R(x)? Select the correct choice below and fill in any answer boxes within your choice.
W —_ . v
y =0 (Simplify your answer)

There is no horizontal or oblique asymptote.

{d) Which graph shown below is the correct graph for R(x)?

3) Analyze the graph of the function.

= 10X 10
" ks 1e
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{a) What is the domain of R{x)?

{x[x#0 and x # - 2}

¥x#0 and x# -2 and x # - 1}
MO xx#-2)

All real numbers

(k) What is the equation of the vertical asymptote(s) of R(x)? Select the correct choice below and fill in any answer boxes within your cheice.

YA x=|23

{Use a comma to separate answers as needed. Type an integer or a fraction.)
There is no vertical asymptote.

{c) What is the equation of the horizontal or oblique asymptote of R(x)? Select the correct choice below and fill in any answer boxes within your choice.

10
W y= — (Simplify your answer.)

There is no horizontal or oblique asymptote.

(d) Which graph shown below is the correct graph for R(x)?



¥ 4
4) Solve the following inequality. \I\ 3 /_r_— Easiest to graph XZ(X+7)
X +7x2 >0 TINCT touches at x=0
The solution is (= 7,0)U(0.c0) . ? 3 2 ::, “1-7 crosses at x= -7 ABOVE x-axis
f M '
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5) What is the domain of the following function?

flx)=+/x* - 256

Choose the correct domain.

Factor (x?>—16)(x%>+16)
(x-4)(x+4)

¥ fxixs-dorxzd)
| -d=x=d}
{x<-dorx=4}
x| -4 <x<d}

(- o0 o)

Check sections -5, -1, 1, 5 — has to be =0

6) Analyze the graph of the function.

X
Rix)=
x?-25

(a) What is the domain of R(x)?

{x#0and x#5 and x # - 5}
Mo [xx#5and x # -5}

{x|x #0}

All real numbers

k) What is the equation of the vertical asymptote(s) of R(x)? Select the correct choice below and fill in any answer boxes within your choice.

YA x= -55

(Use a comma to separate answers as needed. Type an integer or a fraction.)
There is no vertical asymptote.

{c) What is the equation of the horizontal or oblique asymptote of R(x)? Select the correct choice below and fill in any answer boxes within your choice.

4 vy = 0 (Simplify your answer.)

There is no horizontal or oblique asymptote.

(d) Which graph shown below is the correct graph for Rix)?




7) Solve the following inequality. Critical points are-7,0, 6

(= B)x+ 7)
P Check intervals:

-8 -7 -1 01 6 7

Choose the correct solution.

(- o0, = TIU(0.6] ) * -7

E o . E;q } 7006V} YSE intervals with + sign excluding x=0
Yo -7 U}U[E o)

(= o0 00)

]

8)

Which rational function has the given graph?
We know vertical asymptotes
are -4 and 4 makes bottom

-16

4)(2

2
%2 +16 x> - 16

R(x)= -

Analyze the graph of the function.

9) R(x)= x> -9

x*-16

(a) What is the domain of R(x)?

{xlx #0}

Yo xx#2andx £ -2}
{xx#0andx#2 and x # - 2}
All real numbers

b} What is the equation of the vertical asymptote(s) of R(x)7 Select the correct choice below and fill in any answer boxes within your choice.

Yix= -22

(Use a comma to separate answers as needed. Type an integer or a fraction.)
There iz no vertical asymptote.

ic) What is the equation of the horizontal or obliqgue asymptote of R(x)7? Select the correct choice below and fill in any answer boxes within your choice.
4 = impli v

y =0 (Simplify your answer )
We know vertical asymptotes are -2 and 2 My @

check x = 0 — positive 9/16




x—B
¥+ 3

10) What is the domain of the function g(x)= ?

The domain is | [ - oo, — 3)U[6, o) .

Critical points are -3, 6

Check intervals:
-4 -3 0 6 7

+ - +

USE intervals with + sign excluding x=-3 because bottom of fraction



